2011.12.19  AA START
.; GR1 * 2°GR2 + GR3 * 2°GR4 —-> GR5 * 2°GR6
ooooi1,o00o0do ;3 GR1%¥27(GR2-15) ( 0x7000%2°(3-15); by asir )
x,y O 16bit OO (|:| O ) O (X,y) gooood ;3 GR5=5400, GR6=0005

LAD GR1,#7001
00 (00D000000000000000). 00 14p cro.a

00000000, (xy) O LAD GR3, #7000
LAD GR4,3
y—15 CALL FADD
T X2 LD GR1,GR5
gooooooao. LD GR2,GR6
0000 (BOOOOO 200) CALL FNORM
2 = 01000000000000018B, y =000, RET
215 — 0.1000000000000018 2 000 FADD LD GR6,GR2
v o CPA GR2,GR4
000. 0000 z = 00000000000000018, y=1400, IMI AAA
a x 271 = 0.1000000000000008 2000 LD GR6,GR2 ;3 GR2 >= GR4 LI LTI
LD GR7,GR2
ooo. SUBA GR7,GR4

SRL GR3,0,GR7
1. x = #6000,y =000 (xy) 000 20000  jywp ss

O00oOoO0o ooo0oooogooooo? AAA LD GR6,GR4 ;; GR2 < GRAUIO OO
LD GR7,GR4

SUBA GR7,GR2

SRL GR1,0,GR7
2.X:#OFFF,y:8DD (X,y)DDD 20000 BBB LD GR5,GR1

000000 10000000000000°7 ADDL GR5,GR3
PUSH 0,GR5

AND GR5,=#8000 ;; J0OUOO0OO 100 oO.
JZE DDD
3.00 2000000 (normalize) 100 (x,y) O POP GRS
SRL GRS5,1
boooo? ADDA GR6,=1
RET
DDD POP GRS
4. 0U0O0OO0OOOQO (OoDUDOUO)ODOOO RET

OO (GR17GR2) O (GR3’GR4) booooud ;; normailze GR1=0.1xxxx, GR2 : exponent

(GR5,GR6) 0D IDDODOUOOOO. D0OOO  FNORM CPA GR1,=0

DOoooooOoooooooo. ggiFNDRMO

1. 000000 FNORM O (GR1,GR2) DOOOUOO. O FNORMO LD GR3,GR1
goooooooooooooooooooOd. FNORM AND GR3,=#8000

0000000000 00000 30000000. JZE PPP1
2. FNORM O 0000 GR30OOO0O0DOO. GR3OOO SRL GR1,1
00000000 00000000on. ADDA GR2,=1
” RET 55 1xxxx
3. 000 AAADDDDOOOOODO0O0OOO? PPPL LD GR3,GRL
4. 000 BBBOOOOOOOOOODOOOO? AND GR3,=#4000
5. 000000 FADDOOOOODOOOO0OO0O0OO0OO JZE PPP2
oooono. RET 53 Olxxx
6. 000000 2. 0000000000 O0O0OOOOOg FPPP2 SLL GRL, 1 5 OOxxx
0oQ SUBA GR2,=1

http://www.chiba-fjb.ac.jp/fjb_labo/casl/ 000 JUMP FNORMO

gooooooO0ooobooooooOoOoboo. ooooo
ooooo.
oo0o0oooo0o0oooooooooooooo/oooo
00000000000, 00000 (oDooooooo
0)0000000. 0000000 oO0o0oooooooo
gooooooboooooooooooboooo. oooo:
gooooobO wobo0oo0oobo0ooobooboooooo
g0,0000000000000.

END



